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EHAHAMR/T7 7= 21 ) —=BAVFE 757

gL (E(M)), #EEE (o), HEERE BARE (E(o), Faen(V), RSk mlss
(E(V)), BKM Max)), F/ME (Min) =5y §8E-NR=RFk~x 1,

BT BREZ;ZOETHMIEERRE

BB IRENZEAEA 2 v 48 2 0 EERERER
BT B 17°C =15 2 1l

L st 1K= RAFMW >, BF7 5 SR =7 BAYME 7R > Bk
VY305 =R FRABIAF R A, 3 BERGE = R B MK >R Y RE =HFEN 7 5
¥ SR =B MR R e o =Y S 43, 1055 BiRE=H 2 5 A > Y Y. ‘

2. AT AMBEE =R 2 TR =R 5B/ 7 R v 2 iR A A
NmFERL. BIFEZE M. 55, 105 =15 EEA> » FHRER me.

3. ZiMEEHER FUFABLI0F K IRM=RT Barrey ) B=R7 A

P =EP AP R IR AR, (BI3H)

1R IRBEEER GEE 17°C) = R Bk = 4 & > i E ik 2 Hif R

m % n } M£E(M) c+E(0) VEE(V) Min.—Max.
5 & 300 | 127.0835:£0.5044 | 15239504196 | 11991703348 | 83.00—168.00
10 & 300 | 123.9565::0.3758 | 16.7115:£0.2656 | 13.4807+:0.2181 | 88.00—188.00
30 300 | 114.53354+0.7298 | 18.7075+0.5151 | 16.3336+0.4308 | 78.00—183.00
1 B¢ | 300 | 115.8000+£0.5391 | 13.8440+0.3812 | 11.9551+0.2923 | 73.00—158.00
3 uk 300 | 118.6335+0.6480 | 16.6410+0.4582 | 14.0272+0.3935 | 73.00—168.00
5 Bk 100 | 119.6000£1.0731 | 15.909040.7585 | 12.8837+0.6248 | 93.00—158.00
# & | 1500 | 119917040.2947 | 16.9225+0.2083 | 14.1118+01770 | 73.00—188.00

2R IRENCMEARERE 17°C) = )R MBME = 4 ¥ > WIEFEIMIR 2 ZEH

E %  n M+E (M) G +E(a) VEE(V) Min, —Max.
| 5 s | 300 | 567002402731 | 7.0134%0.1931 | 123672403454 |  39.00—81.00
10 5 | 300 | 543902403399 | 87303402403 | 16.0512+0.4525 | 36.00—81.00
30 % | 300 | 56000004382 & 112527403098 | 20.0941:£05746 |  36.00—93.00
1 BE | 300 | 48.250140.3330 | 8.5536+0.2355 | 17.7276+05032 | 33.00—93.00
3 W | 300 | 522920404557 | 117036303222 | 223812406192 |  33.00—93.00
5 mg | 100 | 53.1200+0.5086 | 7.5408:0.3596 | 14.1957:£06903 |  42.00—78.00
@ B | 1600 | 53.526240.1645 | 9.4473+£0.1163 | 17.6498:£0.2240 | 33.00—93.00
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$33F RESEEARGEE 17C) =Ry MBI A O o wiFEAMek i iEis

E & | o M+E(M) G+E(0) VHE(V) | Min.—Max.
5 3 | 300 | 441668+0.2062 | 52956401458 | 11.9900+0.3348 |  39.00—81.00
10 % | 300 | 435068402397 | 6.1566+0.1695 | 14.1508+03970 |  36.00—81.00
30 % 300 49.1462+0.2930 7.52444-0.2071 15.3100+0.4306 36.00—92.00
1 e | 300 | 41.6800+0.2438 | 6.26244:01724 | 152044404287 |  33.00—92.00
3 B | 300 | 433143402453 | 6.3008+0.173¢ | 14.5469+0.4081 |  33.00—92.00
5 B¢ | 100 | 44.1400+0.3700 | 5.4862+0.2616 | 124290406010 | 31.00—59.00

#  ® | 1600 | 44.3256401663 | 6.1710£0.0883 | 139451102333 |  31.00—92.00

Bom| EE37C =Ry B
L MER H4%-Ry Harmy. 55, 105 ¢305 7 S0 7 B~ s 0

=RFRAETE> FEREF 2 1Ay =R e 7 MR =50 o 2K Y B S ==
rEEREE e B = 2 TR 2. 3053y 1= A B RER I EES
VI REMGE IV R == v o R EEIS g X, L EREIRAE)
> V.

| 22+ AR = 4.80004 1.4022p2 3 < peHETRE = 3.4231

2. BER HSR=RRIMy. BEW’ 54539 IBEH=-FEr& BEE=@I%8r
2 3, SEH=FY FUE-BRE 7R 7 .

3. BRIMMRERIERL 456 K =R A V2 W =BIR 7 2 {3 RS =5+ BfE 7R
A. Bl T 3EEM . H/EE 39.7600:£0.284725 v Al 4 » 10552 41,1600+ 0.3343% +
= %W =3 HESH T Hv =K 2y 3.1897 7R 2 %8 ) IRIBMEEEE 7
Be¥yr 8.

S+ peARIRE = 14000+ 0.43899 3+ phdsaise =3.1897

FAR  IREYEBEARQREE 37C) =R 7 MRIE= A T > I FIER 2 MR &L

B & | » } M+E (M) o+E(0) VEE(V) Min.—Max.
5 & | 100 | 1209000+£1.0961 | 16.250540.7750 | 13.4412+0.6518 | 88.00—173.00
10 % | 100 | 121.30001.0941 | 16.2205+07736 | 13.3722£0.6485 |  78.00—163.00
30 & | 100 | 119800008552 | 126790406047 | 10.5834-£0.5096 | 83.00—153.00
T B¢ | 100 | 1150000+1.7113 | 16.4770+0.7858 | 14.3278:0.6968 |  68.00—173.00
3 B¢ | 100 | 114.30000.8672 | 12.8570:£0.6132 | 11.2484+0.5424 | 78.00—143.00
5 8 | 100 | 115250009673 | 14.3412+0.6840 | 12.443840.6017 | 78.00—178.00
| #  m | 600 | 117.9330+0.4230 | 156250403042 | 132490£0.2618 | 68.00—17860
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ZRAMKI[ 7T =22 ) — == v 759
BSER  RPGREARGRE 370 2Ry M EM = F U S EIFA IR AR
B % n M+E(M) o +E(q) 1 VEE(V) Min.—Max.
5 % 100 49.0700+0.4912 7.2831+£0.3473 14.84221+0.7147 30.00—78.00
10 % | 100 | 49.7300::0.4452 | 6.6012+0.3148 | 13.274040.6437 36.00—69.00
30 & ‘ 100 49.1300:0.4100 6.0789+0.2899 12.3708:+0.5982 39.00-—-69.00
1 8§ ‘ 100 48.230040.4814 7.1382:£0.3404 14.80034:0.7207 26.00—69.00
3 B 100 | 459200404419 | 6.5523:+0.3125 | 14.2689+0.6939 33.00—66.00
5 wy | 100 | 461600404147 & 6.1491+0.2032 | 13.3209+0.6460 33.00—63.00
@ w | 600 | 483250+0.1906 l 6.9225+0.1347 | 14.3250+0.2840 27.00—78.00
FOR WD (REE 37°C) = R MBI =4 ¥ > WIF Ak 2 Biminisis s
B & ‘ n M+E(M) i cE(a) VEE(V) Min.—Max.
5 & ‘ 100 | 40.2400-£03009 | 44612402127 | 110864405346 | 27.00—51.00
10 4 | 100 41.160040.3343 4.95724:0.2364 12.043710.5824 31.00—55.00
30 % 100 | 40.2400:+0.2703 | 4.00760.1911 9.95521+0.4787 29.00—51.00
1 ® 100 | 41.1000+0.2988 | 4.4300£02112 | 10.7785+0.5198 29.00—51.00
3 B: 100 39.7600+0.2847 4.221610.2013 10.6177+£0.5113 29.00—51.00
5 ’ 100 40.86001-0.3098 4.5934+0.2190 11.2418+:0.5421 31.00-59.00
@ om , 600 ’ 40.5968:£0.1240 | 4.5038£0.0876 | 11.0939+0.2184 27.00—59.00
BEW BEATC =R vk
L MRmEE v BRETR=vx Irvme. B, 55, 1057 B =R mRE

RO A R 7R 305, 1WH=F v/ RIHEIRe r e H =7 & =fte 3
WRRA = RS HEARD 2 Bl = v &+ S =F v s H=TE 7 /KA F 5 2,

2. Bkt M8KR=R7 R, ZEEHHMERE BE=BEE305, 1BEA=R
F RN 7 R S AR 2 S B =R T AR S Bl vE L o RKen FEE A,

BTF IRTIECEBEA QREE 47°C) =R 2 B> & & 2 vEIFH MR 7 M

B A J n | MEEQM) l o+E(q) l V+E(V) Min,—Max.
5 & 100 120.4000£0.9367 13 88804-0.6523 11.534840.5991 88.00—158.60
10 % 100 120.95004+0.8872 | 13.15454:0.6273 10.8759+0.5245 88.00—148.00
30 % 100 116.1000-0.8032 13.243040.6316 11.4065:+0.5508 88.00—148.00
1 ng 100 | 116.950040.9027 | 13.38453:0.6383 | 11.4446+0.5527 93.00—178.00
3 B 100 | 119.1000+0.8891 | 13.1825:40.6287 | 71.0684:0.5337 93.00—158.00
5 HE 100 124.050041.0528 15.609040.7444 12.5828+0.6093 88.00—163.00

Ey B 600 119.7666+0.3430 12.4575+4.0.2425 10.4010+0.2041 88.00—178.00
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3. BinREsiss MRERNE =B BEE=%1TAr 3 D7 Bimhisiss &k
R =FEr + FRAHEFEIFT M.

#8F  REMIMAERHE 4TC) =Ry MBI X ¥ W EIMER 2 R

B n | M-£E (M) 6+E(0) VAE(V) Min.—Max,
5 & | 100 | 47.8700£04756 | 7.0521+03363 | 147314+07174 |  33.00—69.00
10 % | 100 | 48.8900+0.4133 | 6.1284+0.2923 | 12.5350£0.6070 |  33.00—63.00
30 % | 100 | 47.210040.4642 | 6.8835:+0.3283 | 14.5805:0.7090 36.00—80.00
1 ¢ | 100 | 47.0000£0.3752 | 5.5638::0.2653 | 11.8378+0.5717 36.00—66.00
3 B | 100 | 483200404039 | 59895+0.2856 | 12.3954:0.5994 |  36.00—63.00
5 w | 100 | 51.800040.5250 | 7.7844%03712 | 15.00170.7305 33.00~75.00
@ W | 600 | 48.5300+0.1882 | 6.8364+01331 | 140869402793 |  33.00—80.00

IR AREMIEEAR GREE 47°C) =R MBEM =& & > IFFnEk 2 i

= o n Mﬂ:E(M) G:I:E(o’) V:I;E(V) Min,—Max.
5 s | 100 | 39.3200402702 | 40070401911 | 101907+0.4907 |  29.00~49-00
10 % | 100 | 39.8000:£03117 | 4.6216:402204 | 11.6120:£05607 | 29.00—53.00
30 & | 100 | 40.4600+0.3800 | 5.5346:+0.2687 | 13.9263::0.6763 |  27.00—67.00
1 B | 100 | 398100403112 | 4613802201 | 11.5895:£0.5620 | 27.00—49.00
3 B | 100 | 40.4000+0.2890 |  4.2848+0.2043 | 10605905107 | 31.00—51.00
5 B | 100 | 414200403555 | 52710402514 | 127257406162 |  29.00—55.00
# B | 600 | 40136801304 | 47380200922 | 13677402703 |  27.00—67.00

BRI H —0 2

WER EA , HHE 7 B= e r FE=Rr »EAEBD 7 € vk M.

L MR AR 7 H= e 05 = S0 2 Boh = a o~ MiRERS, BE)y Y 2 27
BANBF 2 ZE=R 7 MBERS A B e BE 7R A, BRI SH=R7 &
EE = MREERA 7R Y, 105 =R5 IR 7 4R 7 4535 S RMEAER 7 & . B
BRI AR 7 /b 2 A6 305370 1B = A5 ~RUNER 2 A =F Y, 385, S
=7 SR ar GR7rey ) E2HEF S BT 17°C 2R nZrR/Mir 1
FER Y ¥ 2357 SR = ERLZ A 2 37°C =7~ B30 » 288 SR L 0 22
B REFERE ARy 4 2B X, Vo BREF By, BIFZ7HMI
FRESNR M.

2% EEARTRAE(37°C) =0.25004 1.4732/2 3¢+ AR =0.169

36+ ERIRSE(17°C) = 5.0668 £ 1.2977 7 22+ FhER R3S = 3.904

25 PRARERZE(47°C) = 7.9500 £ 1.3806 42 32+ kAR 2% = 5.700
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ZEAMR 7T =41 )~ |=BALFFE 761

2. BHE S8 EP 7R 7 M0 v e GIREE S BE) =T o MRERE A v =4F
2 M=k, HIMRERHG D A v B2 b Sl =HiE 2 v RERE T Y
3. BAMBESHEH ALY 7 BARIRiEIE o YRR 0 B = a v BEY L s P 2 My
=7 = ARTER = Es BB IR, EE=33 BB X
B BREE A 3 v 1 % HERAER
E—I W 17°C =Ry r R
L fRmEeT $I0K=RsHErms. 55=RF #7225 20 MREE#ikE
KRRy HIEMGE =L AR SHH=RreAryv. KR 7105D% 7 BHE &
e 87 REWEN =7 v 57 v 7 B8N F 5 2. /v TR Bl K> v
SWEf 7 Kv =t A =K 7 Ml 2 250 = 58 7 WARRZE 2 LA 34k = = il 4 X, (BAATRZEHER
N=7rFan.
AR =2.8665+1.2281,2 26+ FEAsIRIE = 2.3340
2. BER WAMBEE=LT 8K T2 78, BUR=RFHrrvins. MESR
H=R7EW=82r, 3BE=R7EHR=KFr 78 21FF V.
3. EinipieiEl Hl2E=jks s R, HATHH =5+l 7 R 2 2 BEE =3
Wirr2ef> v > 305/, SERMA Y 2 Bt v 28k,

BI0K  BAREEAEA QRE 17°C) =7 MR = 4 & > WEFFIMER 2 KN R

= & n M- E (M) 1 oxE(e) | VEE(V) Min.—Max.
5 % 300 | 102.7000+0.6854 | 17.5995+0.5846 | 17.1368+£0.4855 | 68.00—148.00
10 % 300 | 107.0670+£0.7427 | 19.0385+£0.5242 | 17,7818+0.4917 | 68.00~173.00
30 % 300 | 105.9670+0.6684 | 17.19300.4729 | 16.0732+£0.4477 | 68.00—168.00
1 B 300 | 106.88350.7039 | 18.046040.4964 | 16.8838+0.4783 | 68.00—173.00
3 WE 300 | 109.5500+0.6564 | 16.8575+0.4641 | 15.3879+0.4328 | 73.00—178.00
5 up 100 | 109.750041.0065 | 14.9225+0.7117 | 13.5968£0.6603 | 78.00~153.00
o m ‘ 1600 ‘ 106.8000:0.3123 | 17.9360::0.2208 ‘ 16.7940+0.2118 l 68.00—178.00

FUR  HRBE R QEE 17°C) =R M Bik=F & > WIFR MR BEH

i 5}‘ n M=+F (M) o+E(a) |  VE(V) \ Min.—Max.

5 % 300 44.0801:+:0.3144 8.0754+0.2223 | 18.3198+0.5211 30.00-84.00
10 % 300 46.51011-0.3572 9.1731+0.2525 19.7228:+0.5638 30.00—84.00
30 & 300 46.67001:0.3397 8.7246£0.2402 18.6942+0.5321 |  33.00—84.00
1 B¢ 300 45.9401+0.3208 8.2386+0.2268 17.933340.5092 28.00—-93.00
3 mk 300 48.9100+0.3081 7.913410.2179 16.1795-:0.4513 33.00—84.00
5 B 100 40.7600+0.4430 6.56824:0.3132 16.1143£0.7880 27.00—62.00

B % 1600 46.4222+0.1566 8.99031+0.1107 19.3749+0.2434 27.00—93.00
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& 1

gk E%Mﬁﬁfﬁ%@ﬂ&(/ﬁﬁé 17°C) = A& rRME= F o > v
FImLek 7 #Zmi g 58
BE &% | n MF (M) oxE(s) |  VEE(Y) Min.—Max,
5 % | 300 | 42.6534+01950 | 5.0078£0.1378 | 11.7406£0.3270 |  30.00—84.00
10 % | 300 | 42526802260 | 5.8060-:0.1598 | 13.6525:£0.3757 | 30.00—84.00
30 % | 300 | 43.1868+£0.2184 | 5.6088+0.1544 | 12.987340.3635 |  33.00—84.00
1 W | 300 | 42.5268+0.2420 | 62164401711 | 14.6176+0.4101 |  27.00-92.60
3 B | 300 | 44.2468+02144 | 55070401516 | 12.4460+08475 |  33.00—84.00
5 e | 100 | 368600+0.2730 | 4.06200.1937 | 11.0200405314 |  27.00—47.00
# W | 1600 | 420010%:0.1124 | 53680400982 | 12744002356 |  27.00—92.00

L REE BRE=Ravme.

B IR 3TC =Ry kK

AWR = a0 WEL BEEY = > 5 S5 =2RFERK

7 & MM 2= HiD > SRR =T R Yy~ SIS = E Y B/ T R A,
B, B/ S orili= 5 RERE S il =2 HERREE S v =K W v
P+ EARTRSE = 25,9001 1329022 3%+ FEESIRSE = 19.4885

BI3K  FABEEEE 4 (R 37°C) = R o A Bk 3 & >~ vEH-E M PR 2 #0IR A R

B 5 ] n ‘ M+E(M) ! o +E(0) ’ VAE(Y) Min.—Max.
5 % | 100 | 119.9000+1.0249 | 15.1950+0.7247 | 12.6730+0.6137 | 73.00—163.00
10 % | 100 | 102100008429 | 124975405960 | 12.2404+05919 | 73.00—138.00
30 5 | 100 | 109.6500+09751 | 14.45751+0.6895 | 13.1851:+0.6394 | 68.00—143.00
1 By | 100 | 105100009600 | 14.2330+0.6788 | 13.5423+0.6567 | 73.00—143.00
3 m¢ | 100 | 99.95000.7747 | 11.8465+0.5478 | 11.4922+0.5550 | 68.00—133.00
5 B | 100 | 94.1500+0.8462 | 12547005983 | 13.3266::0.6463 | 73.00—138.00

W@ ® | 600 ‘ 105508504314 | 15.6680:£0.3050 | 14.84994+0.2944 | 68.00—163.00

B4R HRBOEZEEAGHRE3TC) = Ay v R+ o > vIFEINTE /7 FETAT

B % 1 n M+ E(M) o+E(a) | V£EW) Min.—Max.
5 4 | 100 | 50.3700+0.5214 | 7.7313+0.3687 | 15.3490+0.7485 | 36.00—78.00
10 & | 100 | 41.9300+0.3992 | 59196402823 | 14.1178+0.6865 |  33.00—72.00
30 & | 100 | 453500+0.3757 | 55701402556 | 12.2824+0.5939 |  33.00—63.00
1 B | 100 | 42.0800+£03681 | 5.4582+0.2621 | 129710406281 |  30.00—63.00
3 B | 100 | 41.7800+0.3320 | 4.9227+0.2347 | 11.7824+05690 | 33.00—56.00
5 BE | 100 | 37.2500+0.4040 | 599044:0.2857 | 16.0816+0.7864 |  27.00—54.00

# % | 600 | 428702401894 | 6881401339 | 160517403204 | 27.00—98.00
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ERARR/T7 I 240 )~ [=HAVFE 763

2. BEE SHUR=RFRAFM>. BEE N MBEL &8 » BEi=fearz=
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5 s | 100 | 1063000+0.8809 | 13.0615£0.6229 = 122873105942 |  78.00—143.00
10 % | 100 | 971500409739 | 14.4400:06887 | 14863607238 | 73.00—13800
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5 B | 100 | 44.6300£03852 | 571230.2724 | 12.7992+£0.6198 |  33.00—60.00
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%ﬁ‘-‘“ﬂﬂgg 100 | 40.6800-£0.3291 | 4.8802::0.2327 | 11.99894-0.5802 i 31.00— 63.00
FESE BREMWEIRNEEERRER
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10 % 40 | 132500012731 | 120310£09072 | 9.0800+0.6904 | 113.00—168.00
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5 5 40 | 626000414150 | 13.2678::1.0005 | 21.1945:+1.6682 | 45.00—95.00
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ZEAMMR/ (77 =2 vV — =B~ A58 767

P E PEATRIE = 12.8250£2.067742 3%+ WA = 6.202
. BHEENE I W25 AR AWM oKL A TN =T > £ £ 2 e lLBRHEL = >
FEIE=GREBE S Y ey ) HIG P IR A G, BT RAN % v 3 B RIME 4
NIOGRH Y FHEEA M =R 7 12 260 =30 e a v I 2 (4250 = 3688 = 2 5 &
727 Epr Rl 19~
3k SRS = 5.30004 1.436974 35 FedR TR = 3.688

H23FE  ERBRE AR =5 0 BELME AR IR 2 KR

l n r MAE(M) | oxE(e) | VE(V) Min.—Max.

a
5 40 128.115041.3724 12.8685:+0.9704 10.0437+0.7648 93.00—148.00
10 & 40 113.8950+1.6301 15.2840+1.1525 13.42174£1.0221 93.00—143.00
b
3
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&

W ] 240 | 121.4795-£0.6795 \ 15.6085-:0.4805 | 12.84864-0.4012 & 83.00—173.00

24K FRREEEA = A o 2 BERLE I PSR 7 B

B 5 l n MoK (M) | o +E() ’ V4E(V) | Min.—Max,
5 H;'"_ZBMTES? 4500416510 | 154803+£1.1673 | 236521418792 |  30.00—98.00
10 % 0 526250412600 | 118143408909 | 22.4499+417746 |  33.00~87.00
30 # 40 | 62.6000+£1.5278 ' 14.3247£1.0802 | 22.8820+1.8120 |  39.00—95.00
1w 40 6L1000:1.2941 | 121341:£09150 | 19859415551 |  39.00~90.00
3w 40 | 610250412503 ‘ 11.7208:£0.8840 | 19.2098+15004 |  42.00—87.00
5 ng 40 f 54.9500+1.4103 ‘ 132228409971 | 24.0633+19152 |  36.00—92.00
e ';&”%"2216““572252105731 ’ 13.2786+0.4088 1 23.204140.7512 |  30.00—9800

525 FISRHLEE A = 5 o o BECVEVE AT Fy R 2 AR AW IREE R R

B | MzEON ; o+ () | VEE(V) ‘ Min.—Max:

40 | 50.050040.9970 9.348640.7049 |

a7

%‘7 18.67Soi 1.4563 27.00~67.00

= 40 460000 0.9275 8.697040.6558 18.9065+1.4754 31.00~63.00
30 & 40 48.9000+1.0802 10.1286+0.7638 20.7128+1.6261 33.00-69.00

it 40 48.5500+1.0455 9.80264+0.7392 | 20.1911+1.5817 31.00~-71.00

BE

Be

54

40 51.3000%1.0976 10.29124:0.7760 20.06084:1.5723 33.00—71.00

{ 40 48.100041.1692 10.963040.8267 22.792042.2744 |  31.00~75.00°

# 240 48.8168+0.4368 10.0332+0.3088 20.5527+£0.6584 27.00~-75.00
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